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Ðàçðàáîòàë

ËèñòÑòàäèÿ Ëèñòîâ

ã. Ñàìàðà

"Ñîãëàñîâàíî":

Çàêàç÷èê

Ñõåìà ðàññòàíîâêè ìåáåëè è îáîðóäîâàíèÿ

Ñõåìà ðàññòàíîâêè ìåáåëè è îáîðóäîâàíèÿ

Ýêñïëèêàöèÿ ïîìåùåíèé

Íîìåð

ïîìåùåíèÿ Íàèìåíîâàíèå Ïëîùàäü,ì²

Êóõíÿ-Ãîñòèíàÿ

Ïðèõîæàÿ 9

4.7

27

Ñïàëüíÿ 1

4Ëîäæèÿ 1

11.5

10.8

Âàííàÿ, Ñ/ó

6.7

90.7Èòîãî

Ëîäæèÿ 2

Ñïàëüíÿ 2

Õîëë

17

1

2

3

4

5

6

7

8

Âûñîòà ïîìåùåíèé =2780ìì

Äèçàéí-ïðîåêò êâàðòèðû
ÄÏ

ñò
/
ì

1

2

Øêàô

1155Õ600ìì

Êðîâàòü

1600Õ2000ìì

Ñòåíêà ïîä ÒÂ

280Õ400ìì

Ñòîë

1100Õ600ìì

Øêàô

900Õ650ìì

Êðîâàòü

2000Õ900ìì

Øêàô

1100Õ600ìì

õîë.

Äèâàí

2400Õ900ìì

Ñòîë

1000Õ800ìì

Ñòîë

1500Õ800ìì

Ðàêîâèíà

800Õ500ìì

Âàííàÿ

1700Õ700ìì

Øêàô

670Õ450ìì

Èíñòàëÿöèÿ

900Õ200ìì

Øêàô-êóïå

1900Õ1200ìì

Ñòîë

1000Õ600ìì

Òóìáà

1000Õ400ìì

Çåðêàëî

1000Õ2100ìì

Êîìîä

2100Õ450ìì

Øâåä. ñòåíêà

600Õ400ìì

Äèâàí

1700Õ900ìì

ä/ø
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